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Foundations and Pre-Calculus 10

Ex. 7) Randy works at two jobs. In one job, he earns $325.00/week, and has
deductions of $56.67 federal tax, $13.12 provincial tax, $16.09 CPP, and $4.14 EI. At
his other job, he earns $567.00/week and pays $79.42 federal tax, $16.82 provincial
tax, and $18.12 CPP. What is his net income?

Tamings - peduchons
$31S +$SbF —(Sb.bF+13.12+H .09 +H14+ Q.42+
@2+ 18.12)

\

i

\

0870

Ex. 8) As a part-time college instructor, Kathy teaches an introductory course on
Mexican history. She has a biweekly gross income of $3654.75. Her before-tax
deductions include a short-term disability premium of 0.5%, union dues of 3.1%,
and a pension amount of 4%. If she pays federal tax at a rate of 18.5%, provincial
tax at a rate of 6.2%, CPP at 4.95%, and EI at 2.2%, what is her net income? \
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Fw\iigkgsgﬁ%&_&mcM@@Mﬁobomfc;XzLOCL\
= $2FF.IF0C
Oo -tox leme @ 3 3330. 1 | |
Taxes: & 3336.249( O.18S +0.062+0.0425 +0.022)
= HLO0AS.SF |
Net - $2201. 1+

Ex. 9) Consider the following pay statement.

Employee Name: Hank
Company: Pay Begin Date: 06/01/2010 Net Pay: 7772
Pay End Date:06/15/2010 Cheque Date: 06/15/2010
General ; ke  Taxes Data :
Employee ID: ~ |Jobmtlee || Descripton |Federal
Address: Pay Rate.  $575.00 Claim Code 1
Annual: $29900.00
Hours and Earnings _ ‘Taxes |
Current Description Current
Description | Rate Gross Federal $48.01
Earnings Provincial $21.64
Regular $575.00Mwk $575.00 CPP $25.13
El $9.95
Total $104.73

a) What is Hank’s gross weekly income?
$SF
b) What is his net income?
$094S.2F
c) What percent of his taxable income did he pay in federal taxes?
A8OI=][SO = ai 7



